NMO OGS

Position Monitored Active Cartridges
Series RSE/SIH
DIN 24342 or ISO 7368 Size 16 to 100




Table of Contents

Description Page
General Description of Layout and Function 4
Different Types 5
Specifications and Characteristic Parameters 6
Technical Dates of the Position Switch 7
Typical Characteristic Curves 8
Standard Models 9
Dimensions 1
Ordering Information 16
Spare Parts 17
BG - Approval Certificate 18
Notes 19




Av

Ax

General Description of Layout and Function

LTATII

An

Position monitored active

manifold mounting

cartridge for

Ports A and B are either closed or fully open
allowing bi-directional flow.

Valve description:

The valve comprises a sleeve (2), seated poppet
(1) with integral tail rod (4), a non contacting
position monitoring switch (5) and the valve body
(3).

The seated poppet (1) can be controlled by an
integral pilot valve (6) mounted on the valve body
or externally pilot through the interface ports X and
Y. Fast opening and closing times are achieved via
the active pilot areas Ax and Ay. The position
monitoring switch (5) is operated when the nose
(7) of the poppet (1) enters the seat diameter on
the sleeve (2) closing ports A and B. The poppet
(1) then contacts the seat (9) fully blocking ports A
and B.

Advantages:

» No dynamic sealing for position monitoring
switch.

Direct monitoring of the closed position.
High cycle life.

Zero leakage due to seals (8) and metal to
metal seat (9) — (excluding pilot valve
leakage).

YV V

Application examples:

Presses.

Injection moulding machines.
Lifting equipment.
Any  application
monitored cartridges.

YV VY

requiring  position

BG Approval certificate (see page 18):

» All valves up to NG100.

> Approval includes the NG06 adaptor plate
for the WX3 version.

» For the WX1 and WX2 versions the
approval is for the main valve only.

Warning: The approval applies to valves
tested, set and sealed at Moog

Hydrolux.

It is essential this setting is not
modified or tampered with, if
this should happen then the BG
approval would be void.



Active opening with

energised solenoid

WX1—Version

only NG16

Active closing with

energised solenoid

WX2—Version

only NG16

Externally pilot operated

with a interconnecting plate

WX6—Version

only NG16

Active opening with
energised solenoid
and additional Z2—port
WX1—Version

NG25—NG50

Active closing with
energised solenoid
and additional Z2—port

WX2—Versio

H
P A

NG25-NG50

Externally pilot operated
with a interconnecting plate
and additional Z2—port
WX6E—Version

NG25—NG50

Active opening with
energised solenoid
and additional Z2—-port

WX1—Versio

only NG63

Active closing with
energised solenoid
and additional Z2—port

WX2—Versio

only NG63

Externally pilot operated

WX3—Version

only NGB0O—NG100

Different Types



General Data Value Unit Specifications
Designation - - Position monitored active cartridge
Type designation - - see ordering information page 16
Mode of construction - - Pilot operated seat valve
Mounting style - - Manifold mounting
Mounting dimensions - mm see page 11
Mounting position - - any
Flow direction - - A<=>B
. min. °C -25

Ambient temperature range p— C 60
Working pressure
A-port min. bar 0
B-port max. bar 350
X-port min. bar 0
Y-port max. bar 350 for WX3 - and WX6 version
Y-port max. bar 210 for WX1 - and WX2 version

. min. °C -25
Fluid temperature range p— C 280

min. | mm?e s [cSt] [2.8
max. | mm?es” [cSt] [380

Viscosity range

Operational viscosity v mm? ¢ s [cSt] |35
Nominal size - - NG16 | NG25|NG32( NG40[ NG50| NG63|NG80|NG100
Pilot volume (Area Ay) Vy cm® 3,4 10,0 | 19,8 | 46,3 | 92,4 | 178,3|288,6| 505,3

Characteristics Parameters

Area ratio ( Reference surface A,)

NG 16 25 32 40 50 63 80 100
Stroke [mm] 9 11 [ 175 24 24 28 30 | 36,5
Ax[mm?] 123 | 227 | 452 | 804 | 1590 | 2642 | 3848 | 5674
Aa 1 1 1 1 1 1 1 1

Ag 0,64 | 067|056 | 0,41 ] 0,49 | 0,46 | 0,47 | 0,67
Ay 3,1 4 25| 24 | 242|241 | 25 | 2,44
Ay 1,45 |1 2,330,941 1,03]| 0,93 | 0,95| 0,99 [ 0,77




Technical Dates of the Position Switch

M12x1—plug
refer to page 17 => Po0s.8
(are not part of the delivery!)

+UB Contacts (Pins):

1 ov 477 \3 T +24 V
pnp Close e /o 2: Output close position
4 Open S5 0V

4: Output open position

Warning: The position switch don’t have an earth conductor !

Technical Dates of the Position Switch

Supply voltage UB 24V +20 %
Ripple =10 %

max. output voltage =UB-25V
Polarity reversal protection max. 300 V

max. supply current (w/o output current) | 20 mA

Switching point hysteresis =0,06 mm

_I?Szrc;c(l)ugict;)ility of switching point at + 0,02 mm

Temperature drift typ. 0,002 mm/°C (stat.)

max. output current =250 mA

Leckage current at low signal <10 pA

Outputs high side, overload protected
Operating temperature -20°C bis + 85 °C

Vibration-proof Sinus, 20 g (5 min), 40...250 Hz (12 h),
Protection according to DIN 40050 IP 65 with mounted plug

Pressure strenght of tube = 350 bar, schwellend / 5 Hz




Flow direction:

ap—Q—Curves
A—=——B

%]

[l |/

=

/
/1
A

Flow direction:

200 400

ap—Q—Curves
A—=——B

/ /

/

/ /

/

/
/

/

/
A
]

Notes:

2000 3000 4000 5000 6000
Q [I/min]
active opening, viscosity 32

Typical Characteristic Curves NG16 - NG100

ap—Q—Curves
Flow direction: A——B

6 /
/
|1

0 !4
0 150 300 450 600 750 900 1050 1200
Q [I/min]
ap—Q—_Curves
Flow direction: A—=—B
ap [bar]
14 /
12 /
(NGB@/ NG100)
10
/

. // d
) //,/
0 éé/

0 1500

/]
/

3000 4500 6000 7500 9000 10500 12000

Q [I/min]

mm?%s and oil temperature 40° C



Standard Models for 24V =

NG80-NG100

Svmbol Function Size | Weight Part Part
y NG [kgl Designation Number
Ejfiﬂ 16 | 6,0 |RSE16FL6TIWXIBN/SI1 XEB18107-900-01
‘)‘(r*)( Sl x‘
LU |l 25 8,5 |RSE25FL6T2WX1BN/SI1;Z2 XEB18108-900-01
ore| mormally | 32 | 11,0 |RSE32FLET3WX1BN/SI1;Z2 XEB18109-900-01
::,L closed
S Etﬂlj (WX1) | 40 | 18,0 |RSE40FL6T4WX1BN/SI1;Z2 XEB18110-900-01
L%Ax JC >‘< Sai ETYEW
‘\ \‘ | H
= =" 50 | 28,0 |RSE50FL6T5WX1BN/SI1;Z2 XEB18111-900-01
63 | 53,0 |RSE63FL6T6WX1BN/SI1;Z2;W106 XEB18112-900-01
NG25-NG50 only NG63
16 6,0 |RSE16FL6T1WX2BN/SI1 XEB18113-900-01
25 8,5 |RSE25FL6T2WX2BN/SI1;Z2 XEB18114-900-01
normally | 32 | 11,0 |RSE32FL6T3WX2BN/SI1;Z2 XEB18115-900-01
open
(WX2) | 40 | 18,0 |RSE40FL6T4WX2BN/SI1;Z2 XEB18116-900-01
50 | 28,0 |RSE50FL6T5WX2BN/SI1;Z2 XEB18117-900-01
63 | 53,0 |RSE63FL6T6WX2BN/SI1;Z2;W106 XEB18118-900-01
16 55 |RSE16BL6T1WX6/SI1 XEB16951-000-01
25 8,0 |RSE25BL6T2WX6/SI1;22 XEB17292-000-01
externally [ 32 | 10,5 |RSE32BL6T3WX6/SI1;Z2 XEB16981-000-01
piloted
(WX6) | 40 | 17,5 |RSE40BL6T4WX6/SI1;Z2 XEB17009-000-01
50 | 27,5 |RSE50BL6T5WX6/SI1;Z2 XEB17293-000-01
63 | 51,5 |RSE63BL6TBWX6/SI1;Z2 XEB16841-000-01
ne 80 | 81,0 |RSE8OBT6T7WX3/SI1 XEB16842-000-01
Hi H externally
EEE piloted
WX3) | 100 | 100,0 |RSE100BTETEWX3/SI1 XEB16355-000-01

The part numbers of the WX1- and WX2 version have solenoids with manual emergency control !!
The safety requirements, German version EN201 + EN698 for Injection moulding machines and

ATTENTION

presses, requires solenoids without manual emergency control !!

=> See ordering information on page 16!




Standard Models

Svmbol Function Size | Weight Part Part
v NG [ka] Designation Number
F§F‘<L7A>< E><T><
} u } } 16 4,5 |RSE16BL6T1WX_/SI1;0P XEB16466-000-01
|
L=
25 7,0 |RSE25BL6T2WX_/SI1;Z2;0P XEB17189-000-01
only NG16
N Lo 32 9,5 |RSE32BL6T3WX_/SI1;Z2;0P XEB16949-000-01
LJ* ><‘ | without
Y pilot valve
40 16,5 |RSE40BL6T4WX_/SI1;Z2;0P XEB17003-000-01
NG25-NG50
’—)(?(L A)( B)OZ)(T
| L 50 26,5 |RSE50BL6T5WX_/SI1;Z2;0P XEB17190-000-01
b,
63 50,0 |RSE63BL6TE6WX_/SI1;Z2;0P XEB16968-000-01
only NG63
Suggested orifices for pilot area Ay
Pilot area NG Orifices as per DIN 913 *
16 M6 x 0,9 mm
25 M6 x 1,5 mm
32 M6 x 2,0 mm
40 M6 x 2,5 mm
50 M6 x 2,5 mm
63 M6 x 2,5 mm => NGO06-pilot v. / M10 x 3,0 mm => NG10-pilot v.

* for the orifice locations and orifice diameters refer to dimensions pages 11 until 14




Dimensions WX1 + WX2 - Version NG16

PN ore ml prt of the dahary
o1 B
‘ | H Cavily gs per ISO 7368 (refer to page 15) H
A A
B6 B7
Dimensions NG16-WX1 | NG16-WX2

H1 [mm] 100 100

H2 [mm] 210 210

(H3) [mm] 110 110

B1 [mm] 75 75

B2 [mm] 65 65

B3 [mm] 163 188

B4 [mm] 12 12
B5 [mm] 32,5 32,5
B6 [mm] 32,5 32,5
B7 [mm] 42,5 42,5

B8 [mm] 13 13

B9 [mm] 50 75

Orifice thread in A,B,P and T (see drawing) M6 M6

* Screws 4x 4x

DIN EN ISO 4762-12.9 M8 x 95 M8 x 95
Tightening torque M, [Nm] 30 30

* not part of the delivery



Dimensions WX1 + WX2 -Version NG25 - NG63

Screws DIN EN 1SO 4762-12.9
are not port of the delivery

o
T
) (L)
=y | i
T i
AP [ —
T ~
B
B7 SERE)
@l
my
| Y B9
B4
“ Cavity os per ISO 7368 (refer to poge WS)H
Dimensions NG25 NG32 NG40 NG50 NG63
H1 [mm] 101 109 131 158 151
H2 [mm] 211 219 241 268 254
(H3) [mm] 110 110 110 110 110
B1 [mm] 90 102 125 140 200
B2 [mm] 85 102 125 140 180
B3 [mm] 178 190 213 228 320
203 (WX2) [ 215 (WX2) | 238 (WX2) | 253 (WX2) | 345 (WX2)
B4 [mm] 12 12 12 12 12
B5 [mm] 39,15 47 57 70 100
B6 [mm] 42,5 51 62,5 70 90
B7 [mm] 47,5 51 62,5 70 100
B8 [mm] 17 25 35 35 20
50 50 50 50
B9 [mm] 75 (WX2) | 75 wx2) | 75 (wx2) | 75 (wx2) &
Orifice thread in A,B,P and T (see drawing) M6 M6 M6 M6 M6
Orifice thread in Z2 (see drawing) M5 M6 M8 M8 M10
* Screws 4x 4x 4x 4x 4x
DIN EN ISO 4762-12.9 M12 x 100 | M16 x 100 | M20 x 140 | M20 x 120 | M30 x 150
Tightening Torque M, [Nm] 100 300 550 550 1800

* not part of the delivery




Dimensions WX6 - Version NG16 - NG63

B3
B2 B1
Screws DIN EN 1SO 4762-12.9
ore not part of the delivery
[5)
5
N
T
AP
kS 1
[Ce)
m
H Cavity as per ISO 7368 (refer to page 15) H
B
Dimensions NG16 NG25 NG32 NG40 NG50 NG63
H1 [mm] 100 101 109 131 158 144
H2 [mm] 210 211 219 241 268 254
(H3) [mm] 110 110 110 110 110 110
B1 [mm] 75 90 102 125 140 200
B2 [mm] 65 85 102 125 140 180
B3 [mm] 92 107 119 142 157 225
B4 [mm] 32,5 42,5 51 62,5 70 90
B5 [mm] 42,5 47,5 51 62,5 70 100
B6 [mm] 23 26 B85 45 40 28
Orifice thread in A,B,P and T (see drawing) M6 M6 M6 M6 M6 M10
Orifice thread in Z2 (see drawing) - M5 M6 M8 M8 M10
* Screws 4x 4x 4x 4x 4x 4x
DIN EN ISO 4762-12.9 M8 x 95(M12 x 100| M16 x 110 | M20 x 140 | M20x120 | M30x150
Tightening torque M, [Nm] 30 100 300 550 550 1800

* not part of the delivery




Dimensions WX3 - Version NG80 - NG100

[
™
Z Screws DIN EN 1SO 4762-12.9
are not part of the delivery
‘ -
i \
N
I
]
™
T
m .
1]
X Y
H Cavity as per 1SO 7368 (refer to page 15) H
7777777 B
| ? |
—
< | 7
A
B2 B1 .
Dimensions NG80 NG100
H1 [mm] 192 218
H2 [mm] 317 358
(H3) [mm] 125 140
B1 [mm] @ 250 @ 300
B2 [mm] 2 -
Orifice thread in X and Y (see drawing) M14 M16
* Screws 8x 8x
DIN EN ISO 4762-12.9 M24 x 200 M30 x 170
Tightening Torque M, [Nm] 900 1800

* not part of the delivery



CAVITY AS PER

Mounting Dimensions NG16 - NG100

ISO 7368

@d1

76\_

Required surface finish

[a]
= N~
= -

. 35 3 /Rt {10]0,01/100
0 ] 5 z
e cg

<«
= -
T 7 15 I

(\‘ el /J"\

- =4 7 R B S % — Dimension | NGT6 | NG25 | NG32 | NG4O | NG5O | NG63
=, © = B S b1 75 | 90 | 102 [ 125 [ 140 | 200
s | b2 65 | 85 | 102 | 125|140 | 180
M | 417 32 | 45 | 60 | 75 | 90 [ 120

1 i < 927 25 | 34 | 45 | 55 | 68 | 90
= £ a3 16 | 25 | 32 | 40 | 50 | 63
a o d4 16 | 25 | 32 | 40 | 50 | 63
-§ A = G4 o, 25 | 32 | 40 | 50 | 63 | 80
o | 45 mox. 4 [ 6| 8 |10] 10|12
£ ‘ R<0,8 or d6 M8 | M12 |M16 | M20 | M20 | M30
= 8d3 Chamfer max. 0,8x45° |97 6,8 10,2 14 [17,5/17,5]26,5

042 FEIE 4+ s 6|6 8]s
m1 £02 46 | 58 | 70 | 85 | 100 | 125
= © m2 £0:2 25 | 33 | 41| 50 | 58 | 75
= m3 02 23 | 29 | 35 [42,5] 50 |62,5
- m4 02 10,5 16 | 17 | 23 | 30 | 38
1 m5 0.2 25 | 33 | 41| 50 | 58 | 75
m 10 43 | 58 | 70 | 87 [ 100|130
_ _ £201 56 | 72 | 85 [105 ] 122|155
- - t3 11 |12 | 13 [ 15 | 17 | 20
ma | 2d7xt10 4 54 | 44 | 52 | 64 | 72 | 95
d6xt6 t4ot ddmox | 29,5]40,5| 48 | 59 [655]86,5
d8x10min. t5 20 | 30 | 30 | 30 | 35 | 40
16 14 | 20| 26 | 33| 33| 50
t7 2 2525 3| 4| 4
------- [E 2 2525 3| 3| 4
t9 0510152525 3
. t10 17 | 24 | 31| 38 | 38 | 56
5] U 0,03|0,03]0,03]0,05|0,05]0,05
N'E) u.rE> I w 0,05/0,05| 0,11 01101102
o
£ 9
CE [
Dimension NGB0 [NG100
D e 250 | 300
a1 145 | 180
""" 42+ 110|135
mS mb 43 80 | 100
a4 80 | 100
b1 94 mox. 100 | 125
d5 mox. 16 | 20
a6 M24 | M30
d7 21 | 26,5
ggH13 10 | 10
t 175 | 210
t2 +02 205 | 245
t3 25 | 29
t4 130 | 155
6d7xt10 t4at ddmax. | 120 [142,5
| R 5 20 | 50
d6xt6 16 39 | 50
t7 5 | 5
t8 5 [ 5
19 3|5
t10 45 | 56
m 03 200 | 245
U 0,05 0,05
w 0202




Ordering Information

. - |R]IS|IE 6T W] | X /1Sl

)

Seals Modification
without ind. | FPM/FKM (Standard) S Safety valve with inductive position switch
M | FPM/FKM + PUR 72 additional Z2—port (not for NG16)
N | nBR oP without pilot valve
W106 |[Cover with mounting face dimension P06 for
solenoid pilot control (only NG63)

Orifices: Indication in 10th of a mm of the diameter and

in the same order as given in the function symbol
Valve type .00 = Plug

R | Check valve .08 = Orifice 0,8 mm

.15 = Orifice 1,56 mm

i.e. . X08 = Orifice 0,8 mm in X

i.e. : 2210 = Orifice 1,0 mm in Z2

Valve function

S Safety valve

Electrical connection (only for valves with pilot valve)

—without ind.[connection by DIN43650 without plug
1 |cube plug by DIN 43650

Mounting

= Manifold - - -
Solenoid type (only for valves with pilot valve)

— N |Wet solenoid with manual emergency control

O* [Wet solenoid without manual emergency control

Size * only on request !

16 NG16

25 [ NG25 Solenoid supply (only for valves with pilot valve)

32 [ NG32 A [12 vDC

40 NG40 B |24 vDC

30 [NG50 M [110 vac 50/60 Hz

63 | NG63

80 | NGS8O N |220 VAC 50/60 Hz

100 | NG100

Function

1 | active opefiing with energised solenoid (de—energized close)
2 | active closing” with energised solencid (de—energized open)

Series number 3 | externally pilot operated (only NG8O + NG100)

B | WX3 + WX6 Version 6 | externally pilot operated with a interconnecting plate

F WXT + WX2 Version

Pilot connection

X | x through mounting surface / y through mounting surface

Spring*

T | 2,0 bar (for NGBO + NG100 Standard) —

L | 3,0 bar (Stondard; for NGBO + NG100 not possible) pening
V | 6,0 bar (not available for all the sizes) W |active

* in case of critical switching time (not active piloted)
the spring force should be at least (<3bar).

Ratio of opening pressure refer to page 6

Series 1 | NG16
6 | Connections by DIN 24342 2 | NG25
3 | NG32
4 | NG40 Factory
5 | NG5O determinated !
6 | NG63
Cone type - | neso
T Step cone with small seat and damping 8 | NG100




Spare Parts

3 / 0. o 3 2

w,
””””””””” gx
5
Pos. Designation Order Number
NG16 NG25 [ NG32 [ NG40 [ NG50 NG63 | NG80 [ NG100
1 |Back-Up Ring X780- 08020 18122 | 18222 ] 18225 | 18229 18338 18344 | 18427
2 [O-Ring Fluorocarbon X980- 02020 [ 02122 02222 02225[02229 [ 02338 02344 02427
3 [O-Ring Fluorocarbon X980-| 02024 02129] 02227| 02231] 02338 | 02347 02430 | 02439
4 [Back-Up Ring X780-| 18024 | 18129| 08227 | 18231 18338 | 08348 | 08431 [ 18439
5 [O-Ring Flourocarbon X980- 02010 [ 02012 02012 | 02013| 02112] 02116 02115] 02220
Seal Kit (Pos.1 - 5) XEB 17324 17325 | 17326 | 17327 | 17328 17329 17330 | 17331
Seal Kit
6 [Pilot valve NG06 XEB 16512-000-00
Pilot valve NG10 XEB 13746-000-00
Screws
7 |DNENISO 762120 | x7ea-| 10819 | 1120911607 12016 12008 | 10006 | 12409 | 13004
(not part of the delivery !)
Pin Connector + Cable X798- 00030 (5 m Cable length)
(not part of the delivery !) X798- 00085 (10 m Cable length)

LE

14 12

!
|
LXS LN

Order example : O-Ring Fluorocarbon Pos.7 NG32 => Order number : X980-02013



(b
o]
4+
.w
ﬁ
b .
(b
(&)
©
>
o
b ..
Q.
Q.
<
1
o
m

Js1 19319y eMab oymsydney

Jsp Bunyosemuag() a1p Yoinp sjUSAISNSISIOA S9p Bunyoemiaqq apusaydlaisne

auld ssep ‘uasiamnzyoeu Buniana)g usuynjebsne Jop ue uone|NWISISIYS

Jaujd uswiyey wi 3si (Buniynysny-L XA) [13USAISNS)SIONSBAAN-Z/b HW S|RUSA
sep Buniynysny 1ag ‘aymsidney aip jne yois jysizaq BunbBiuisysseqinid aig o

“ule 1w Bunaynysny-9 XM 41y spejdijusjuin a1p 3gelyas bunbiuleyosseqinid a1q o

ucwm_._:v_._OEOm

Buyosiaun wnjeq

$1q uaBuElaA pIIM (280 66 JSWWNN) BunBiuiBYISSQINIJ Jop HEXBAIND 21g

BunBiulsyossgnidisisnwuneg Jop a)esyony

8601
018Zd

op(essna 6£20%
69 YeNS-0x08Y-RID
:essalpesneH

on Wi #075898-4228/1 | 20 XS
228/11 20 181

Hopsssnd L00OY 7
S1 0L 0} yoeysod >
:95S8IPEISOd

mk ayulaH ‘bul-'1dig ) yuyosaun

*/661 418900 WoA Bunupio
-sBunisizyaz pun -jnid a1p Jjabas usbunbuipag aispue pun BuruabugpsasyaybyNo sue NLNBING SIp Jaqn SaIsiaM

¥002'60°10

:we ByinBun susysajeds pam BunbBiuisyosag ssalq

‘(usulyose) H3//€/86 SIUMYSIY Jop usbunwiwnseg uabibeuosuie uap Jydudsius Jajsnwneg synidseb seq

- 6661 °80°60 WOA /80 66 JoWWINUINIL Jap Nz Bunbiutayoseqabiod -
- JLIFSHONY dyaIs -

‘uuey uspsam Japajebuls Jysw Jyoiu

SNPAZUBLIYOSEYY 18)NBUIS UIS SIS} BUOSSUONISO Sap UaBeSIaA 19g yone ssep os ‘usyoem

-194n nz Bnepsgies suyoselwg1bziudg tep Buruens)g Jep UOA UaBuniapiojues)iayIsydIg

- usuyosewgyalbzluds, 26611102 N3 48P G [endey ‘mzq (9. 2 9gA) usulyosewsjaibzudg,
yuyosioasbBuninuysaaieun Jap ag 'sqy | § gewab st puap abiiams( seq ‘uabunylawag

L uaburuapiojuesyiayayolg
NINIHOSYNYIIOZLIYS UBUIYISEWHOISISUNY pun -lWwng,, 2661:L02 N3 o

2661/11 aqebsny

‘usuiyosewsaibziudg uoa yeylsyolssyiaqly Jap Bunjnid aip Ny aziespuni :abejpunubinig
Bunjieuenequiaia||9)sioH
gewsb usuiyosewsga1bzudg ur usbuniaydISgaIYOS ayosINeIpAY Jnj BunpusmIsp InZ :Bunpuamuap

agewsabsbunwuwnssg

LSTXM™ 978
001 /08/€9/0S/0%/2€/52 /9L 3SY AL

-Buniynysnepiepue)s-

J3)|eyossBUNYIEMISGN WAARYNPUL JW [JUSAZISIBIM Z/Z :Bunuyoiezagpnpold

1002 ludy ‘52
‘wnjepsBun|ja)ssny

19/99 an-82'clo:LZig Il W3

:9|je)ssBuUNIBIZIIISZ pUN -JNid Jop usydlez :s19qaBBelny sap usyoez

:813||3)SI3H Sop

- uago ayals - YUYOSUY pun swen
Binoquiexni ZLLL - (1agabbeiyny)
aUDIoY,[ 8p enl ‘| :siageyuisBunbluisyosag sep

‘I''g's xnjoipkH OOOW JULISUY pun aweN

JawuwinN-sBunBiusyosag

180 66

usyeyosuassousbsjniag
usyaigiamab Jap puegieaidneq

Bunbiuisyosagynidisisnwineg

143740dd-09 Wi
a||@yssbBuniaizy ez pun-jnid
abnazagaH pun
|elsy pun uasig
assnyossneyoey

8601
ol8zd







Australia
Brazil
China

Denmark
England
Finland
France

Germany
India
Ireland
Italy

Japan
Korea
Luxembourg
Philippines
Singapore
Spain
Sweden
USA

NMOO G

MOOG HYDROLUX S.ar.l.

1, rue de 'Aciérie

L-1112 LUXEMBOURG

Tel: (+352) 40 46 40-1

Fax: (+352) 40 46 40-909
E-mail: administration@moog.lu

04/05 Rev1/X999-80226



